



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:29:33 PM

General Details

 Parcel ID:
 270-0020-01670

 Document:
 Abstract - 01430458

Document Date: 11/05/2021

Legal Description Details

Plat Name: BREITUNG

Section Township Range Lot Block

19 62 15 -

Description: PART OF LOT 5 BEGINNING AT A POINT 103 FT E OF A POINT ON THE LINE BETWEEN SE1/4 AND THE

SW1/4 OF SE1/4 1000 FT NORTH FROM THE SECTION LINE BETWEEN SECTIONS 19 AND 30, AND RUNNING FROM SAID POINT N40DEG 30'W 391 FEET TO STATION 1; ANGLE 68 DEGREES 45 MINUTES RIGHT 89.6 FEET TO STATION 2; RIGHT 33 DEGREES 28 MINUTES AND 252.6 FEET TO STATION 3; 58 DEGREES 25 MINUTES RIGHT 250 FEET TO STATION 4; 68 DEGREES 52 MINUTES LEFT 189 FEET TO STATION 5; 56 DEGREES 44 MINUTES RIGHT 215.5 FEET TO STATION 6; 17 DEGREES 32 MINUTES RIGHT 132.5 FEET TO STATION 7; 89 DEGREES 20 MINUTES RIGHT 158.2 FEET TO STATION 8; 26 DEGREES 11 MINUTES RIGHT 151.1 FEET TO STATION 10; 75 DEGREES 37 MINUTES LEFT 144 FEET TO STATION 11; 85 DEGREES 45 MINUTES RIGHT 48 FEET TO STATION 0.

Taxpayer Details

Taxpayer Name LUNDEEN GAIL M & YVONNE M GRAVELL

and Address: 1100 LITTLE PINE LAKE TRL

HARRIS MN 55032

Owner Details

Owner Name GRAVELL YVONNE
Owner Name LUNDEEN GAIL M

Payable 2025 Tax Summary

2025 - Net Tax \$9,895.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$9,980.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$4,990.00	2025 - 2nd Half Tax	\$4,990.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$4,990.00	2025 - 2nd Half Tax Paid	\$4,990.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 5722 ECHO POINT RD, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)							
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
151	0 - Non Homestead	\$582,800	\$208,800	\$791,600	\$0	\$0	-
	Total:	\$582,800	\$208,800	\$791,600	\$0	\$0	8645





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:29:33 PM

Land Details

Deeded Acres: 5.85

Waterfront: **VERMILION** Water Front Feet: 2300.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

t Depth:	0.00					
e dimensions shown are no						E - O - Ui- novembron de
s://apps.stiouiscountymin.ç		<u> </u>		ails (RESIDEN	tions, please email PropertyT	ax@stlouiscountymin.gc
Improvement Type	Year Built	-	loor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
HOUSE	1958		124	1,710	-	CAB - CABIN
Segment	Story	Width	Length		Foundat	
BAS	1	6	7	42	FOUNDA ⁻	TION
BAS	1	6	8	48	CANTILE	VER
BAS	1	8	8	64	FOUNDA ⁻	TION
BAS	1	20	36	720	FOUNDA ⁻	TION
BAS	2	13	22	286	FOUNDA ⁻	TION
DK	1	4	7	28	CANTILE	
DK	1	6	29	174	CANTILE	VER
ОР	1	4	7	28	FLOATING	SLAB
SP	1	6	29	174	FLOATING	SLAB
Bath Count	Bedroom Count		Room C		Fireplace Count	HVAC
1.25 BATHS	3 BEDROOMS		-		1	CENTRAL, ELECTRIC
		Improv	ement 2 [Details (CABIN))	
Improvement Type	Year Built	-	loor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
HOUSE	1958	73	32	732	-	CAB - CABIN
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	6	14	84	POST ON G	ROUND
BAS	1	12	14	168	POST ON G	ROUND
BAS	1	16	30	480	POST ON G	ROUND
DK	1	4	12	48	POST ON G	ROUND
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC
0.0 BATHS	1 BEDROOM		-		-	STOVE/SPCE, WOOD
	Im	provem	ent 3 Deta	ails (WOODSH	ED)	
Improvement Type	Year Built	Main FI	loor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	32	20	320	-	
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	16	20	320	POST ON G	ROUND
	Im	provem	ent 4 Deta	ails (WOODSH	IED)	
Improvement Type	Year Built	•	loor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0		96	96	-	-
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	8	12	96	POST ON G	ROUND





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:29:33 PM

		Improveme	ent 5 Details (E	OATHOUSE)			
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style C	Code & Desc.
BOAT HOUSE	0	32	4	324	-		-
Segme	nt Story	/ Width	Length	Area	Foundation		
BAS	1	12	27	324	FLOATING SLAB		
Bath Count	Bedroo	m Count	Room Count	Fireplace	Count	ount HVAC	
-		-	-	-			
		-	nent 6 Details	(STORAGE)			
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	S Area Ft ² Base	ment Finish	Style C	Code & Desc
STORAGE BUILDING 1958		96		96	<u> </u>		
Segme	_		ŭ	Area	Foundation		
BAS	1	8	12	96	POST ON G	GROUND	
		Improv	vement 7 Deta	ils (Slab)			
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style C	Code & Desc
	0	26	0	260	-	PLN -	PLAIN SLAB
Segme	Segment Story		Length	Length Area		Foundation	
BAS	0	0	0	260	-		
	•	Sales Reported	to the St. Lou	is County Auditor			
No Sales informa		•		-			
	·	Λ.					
			seasemant His	tory			
	Class	A	ssessment His	tory	Def	Def	
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	
	Code	Land	Bldg	Total	Land	Bldg	
	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Capacity -
2024 Payable 2025	Code (Legend) 151	Land EMV \$576,200	Bldg EMV \$207,100	Total EMV \$783,300	Land EMV \$0	Bldg EMV \$0	Capacity -
2024 Payable 2025	Code (Legend) 151 Total	Land EMV \$576,200 \$576,200	Bldg EMV \$207,100 \$207,100	Total EMV \$783,300 \$783,300	Land EMV \$0 \$0	## Bldg EMV \$0 \$0 \$0	8,541.00
2024 Payable 2025	Code (Legend) 151 Total	Land EMV \$576,200 \$576,200 \$537,000	\$207,100 \$207,100 \$189,600	Total EMV \$783,300 \$783,300 \$726,600	\$0 \$0 \$0	## Bldg EMV	8,541.00
2024 Payable 2025 2023 Payable 2024	Code (Legend) 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000	\$207,100 \$207,100 \$189,600 \$189,600	Total EMV \$783,300 \$783,300 \$726,600 \$726,600	\$0 \$0 \$0 \$0	Bldg EMV \$0 \$0 \$0	8,541.00 - 7,833.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 151 Total 151 Total 151	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200	\$207,100 \$207,100 \$207,100 \$189,600 \$189,600 \$180,800	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000	\$0 \$0 \$0 \$0 \$0	## Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	8,541.00 - 7,833.00
2024 Payable 2025 2023 Payable 2024	Code (Legend) 151 Total 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$515,200	\$189,600 \$189,600 \$180,800 \$180,800	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000 \$696,000	\$0 \$0 \$0 \$0 \$0 \$0	Bldg EMV \$0 \$0 \$0 \$0 \$0	7,450.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 151 Total 151 Total 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$436,700	\$207,100 \$207,100 \$189,600 \$189,600 \$180,800 \$180,800	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000 \$584,800 \$584,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0	7,450.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 151 Total 151 Total 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$436,700	### Bldg EMV \$207,100 \$207,100 \$189,600 \$180,800 \$180,800 \$148,10	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000 \$584,800 \$584,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0	7,450.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Code (Legend) 151 Total 151 Total 151 Total 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$436,700 \$436,700	### Bldg EMV \$207,100 \$207,100 \$189,600 \$189,600 \$180,800 \$148,10	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000 \$696,000 \$584,800 \$584,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	## Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	7,833.00 7,450.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 Tax Year	Code (Legend) 151 Total 151 Total 151 Total 151 Total Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$436,700 \$436,700 Special Assessments	\$207,100 \$207,100 \$189,600 \$189,600 \$180,800 \$148,100 \$148,100 \$148,100 Tax Detail History Total Tax & Special Assessments	Total EMV	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	## Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Code (Legend) 151 Total 151 Total 151 Total 151 Total 151 Total	Land EMV \$576,200 \$576,200 \$537,000 \$537,000 \$515,200 \$436,700 \$436,700	### Bldg EMV \$207,100 \$207,100 \$189,600 \$189,600 \$180,800 \$148,10	Total EMV \$783,300 \$783,300 \$726,600 \$726,600 \$696,000 \$696,000 \$584,800 \$584,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	### Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	7,833.00





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:29:33 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.